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EXTRA CREDIT

Choose the correct answer

x=-bx+/b%-4ac over 2a subtract the exponents Add the exponents

Greater than sign 75550864 division coefficient 30517578125

56

Variable less than sign PEMDAS Put it under one equation
y=mx+b ohe constant two slope expohent
>

To make a negative exponent positive

A term that has no variable

The number of times a number is multiplied by itself

To divide powers with the same base

125°

Change in y over change in x

/3136

Slope-intercept form

86922

aO

A numerical factor of a term

Order of operations

The square root of 4

Quadratic formula

Inverse operation of multiplication

<

2 or more expressions connected by an equal sign

How to multiplying powers with the same base
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